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CERTIFICATE IN PRIMARY
CURRICULUM AND INSTRUCTION (CPC)

Module 2 of DPE

Term-End Examination
|une, 2409

ES-213 : FOUNDATION IN SUBIECTS

Time : 3 hours Maximum Weightage : 70%

Note : (i) All the four questions are cornpulsory.
(ii)All questions carry equal weightage.

1. Answer any four of the following in about

1,50 words each :

(u) How does marriage function as a basic social

institution ?

(b) How does psychology of human beings

become instrumental to social change ?

(.) How did disappointment and

disillusionment with government help in

emergence of Gandhi during freedom

struggle ?

(d) Discuss any twofactors responsible for'Quit

India' Movement.

(u) How did renaissance help in shaping of

modern world ?
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2.

(f) What are the l imitation of UN in
restructuring of International relations ?

Attempt any four questions :

(u) Divide

4 l t3 -4y? -4y -8  by  y -Z

(b) Factorise

y2 + Uy +72

(.) Solve the following equation and verify the
results.

7 x - 5 6 : 4 x * 4

(d) After 12 years, Vipin will be three times as
old as he is now. What is his present age ?

(") Construct a triangle ABC such that
BC:8 cm, AC:5 cm and AB - 6 cm.

(f) A merchant buys goods at 20% off the listed
price. He desires to mark goods so that he
can give a discount of 20% on the marked
price and still makes a profit oI 20% on
selling price. What percent of the listed price
must he mark the goods ?

Answer any four of the following :

(u) Imagine and write what will happen if
there is no gravitational force ?
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(b) What are different kinds of energy ? What

kind of energy is produced when hammer

strikes a nail ?

\zVhy do we use machines ?

luVhat are the base units of Mass, Elecfric

current and Luminous intensity ? Give

their symbols.

What are various ways of separating

components of a mixture ?

(f) How are detergents different from soaps ?

Answer any four of the fol lowing in about

1-50 words each :

(u) How can we maintain the fertility of soil ?

(b) Differentiate between insects and pests.

How can we protect the crops from pests ?

(.) \zVhat is the difference between lunar eclips

and solar eclips ? Illustrate with the help of

diagram.

(d) \Mhat is mean t by water pollution ? How

does it affect the ecosystem ?

(") How do seasons change on earth ?

Illustrate with the help of a diagram.
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fT'qF 4',l
{qrEFffi rTrEfifltrF stGvn

urlrur-qr (fr.fr.fr. )

S.fi.S.qTfrqqs 2

Fdril qfrqn

{{, 2009

$.!p.-21.3: ffii{ eilert

g q q , 3 q d aTf?rqaq qTftdT : 7o%

qle : G) wr?. (w{T) os sTPqTd {r

Gil veft yrn qT ttTfrdT sqn f,1

ffifudf O ffiarcvvql #rrrdfirqr vt6
ril{ azrem rco wT dtd"r ErfW t

1. (u) fffi€ go eTrerrfrd'vtqTtsfi TR{TI *'sq q ffi
q,rd qrcr tl

(b) q-{qr ffi qfrfuflq srqrfufr qffir *. tdq t*,s
FFR v€rqtnd qrcr tl

(") sdrnr qriq + drtq strFR t gi tnrqn efu
qiqt{qrq i 'ri$fi h sE rq q *fr {r6Frdl E1?

(d) rtqr{tr ffi" qffr.fi + lirqB-dt<t* ffi A
u,rtdfql qqt eftqqr
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(") eqFm tdrq ql err*n ti fr IFqi'Fpr i *fr
s6rqtrr frr

(f) $rilRTSq sqsir +1 grturtnr fr 1gl (vW-
{tg) s1+Trqffft?

z. ffiartyvqla;) aa rytw r

4y3 - 4yz - 4y -8 B1 y -2 ERI tqrTrtda e,fiq I

U"Fqs eti

y2 + Uy +72

(.) ffifuT vettr{ur *1 ao qt nq{r E\R ql

T[enw qt ,

7 x - 5 6 : 4 x + 4

(d) 12 q{ qrqrEflEnn m? engsssl Tdqrr eng t

ffidqfufr r trtq(t€s€r*lErdotq sTrgwrr

tz
(") qfr ftgq ABC q{r{q fdq-i' BC: B d rfr

AC:  s {q }e fuee :6 f r f rd r

(f) qfr qr.nfr qiqn TR t zozo*fr qq qrg{
€-fr-ffr t I qrw eqet q{ {s fus{r qrear t
nTF*. q6 ff,fud {€ q{ 20% *1 ga t €*' oft

fu{ ql fr"fiq qlq w z0% drr{ s-rrT q*'t Bfr
eqst q{ {qd qg *.r i*rqr efrflr firq{r
qrf6q?

(u)

(b)
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3. ffifstr C d fiFd aryvql # rrr d&rg i
(u) qfq Trfl*'fur qo fqcqm q d fr wn Etqr,

Fs-si cFerHT srh fofuq r
(b) u.qi + i+f-qa F6R wr tz qq fttn.n eftr

qnr qrn tfr tdrs ffiR q'l g.qi sffiT *fr tz
(.) 5q ffiif qr rfr'r qdr *-{il t?
(d) €?fr, trgd qrr $t{ rFM rrtrlirT qs161y fr

erTsrn {*rE i qr tu T{h rfrfi (fq€,
{*.nw) qtrr{q I

(") ffi fraq + q-di qi ero'r qcrrr oti ft1
fqhq fdfHztr wr tl

(f) slqqrd-€ (*nq'q''tt qrqTr urenTflenia;
qTSfr t f*.q FsR Fr* t?

ffitud C C ed aF yrqT # srr dfue r st6
str{ errrqFr rca wT C dl
(u) Eq Tqr o? sdwr Bi *fr q{q re vot t?
(b) *tli efu qwrfr m,tJi + *q erirr qcrgq | 6q

v-sdr *1 il$m'qtlf t Vrqr infr oq rrfiA t?
(.) qEsour sth$ru*.Etqq1 eiart? fqdsl

vtFrdT t ss qtFqq r
(d) qmy{Turt wr qfiTqrqti qaqrRfrqfliln-ffi

+1 +fr yqrfuo qrar tl
(") 5ua1 q{ Eg( Cqtqql *t qtrdi t? fq* srn

qErflr{q I
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